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PART - III
2 i Geudlulwev / BIO-CHEMISTRY

(WD wHmD WEdle aifl / Tamil & English Version)

&M lemey : 3.00 wewfl Crr ] [ Qrgg wHutluearser : 70

Time Allowed : 3.00 Hours | [ Maximum Marks : 70

SiNleyenraseT : (1) Ameansg elamssenb sflwurg udeurdl o drargr erarugme FflumTég)d
Qs maremeyd. FslILSeND GampulmLlilber Semns searasmeantlliumerilLb
o | anquinsg Cgfledssal.
(2) Beod eoeg &HmUY abulomar LLHCL T USDHEGLD
33 &CHTyHeusH@GL LTSS Couamr(Hbd. UL BISGET euenFeusnd
Quendler LweTL(HSE Ceuar(Hib.
(3) Caemeuwimen @L 6 cuepFULLD WHMILD FOGTLT(HSEDETS F(H.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

(3) Draw diagrams and write equations wherever necessary.

U@3) - I / PART - I

GOl : () oesg alamssErs@h el waldsa. 15x1=15

(ii) Qar@ssiiul(erer wIOHM| el gafledr WD gL alenLamuis
Cambos(hdss GO HLer eleLulemarnyb Caidg er(pseyw.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. RBC -gsaflev f,@l_m sllenarul_(h srrureals Slwsmss SmHEMI.
p— 2_

(1) HCO,4 (<) CO, (&) CO; () CO

In RBCs reacts with water forming carbonic acid.

(a) HCO4 (b) CO, (c) CO§_ (d) CO
2. CFevger HCl -& Hr&dlemmae.

() eurd CFevaer (=) poaranng a6

(@) gaflF Qadser (/F) G -Ogavser

HCl is secreted by .

(a) Parietal cells (b)  Chief cells

(c) Mucosal cells (d) G cells

3. premdleer HmILD BIETIPETeT &ISSHe pHlu @rewr(h Cewdurhsamerun Clgmamr
2 GT(@pMmILIL] :
(=) YssLIenL (<) @enrlienL (@) seemrwid (FF)  &evedied
The organ that functions as both exocrine and endocrine :
(a) Gall bladder (b) Stomach (c) Pancreas (d) Liver

4. Slaersaredlslen Blspailen @mdl aflenerClummer :

(1) SFawLé CoA (<) LG
(@) ewrsGLL (FF)  enumGoul
The end product of glycolysis is .

(a) Acetyl CoA (b) Citrate

(c) Lactate (d) Pyruvate

5. wrremev HSGaTHDLD eTELIg) !

(=) @ SLCL SBlwsSNmHg NCarm Agr@deaw wrHm e odlCerm
SBOFMS 2 (HAUMEEGSHe0

(=) @m SLELT obflewsde SLCLT Qargdawu Corsg HCarm julab
2 (IH6UTE GG

(@) @m EL06LT e wHmD @@ HBGCerT SlsHnHleanL G odlCerm
Qgm@daer LflbmHoDd mLFme 2 eTearL&Hlwg)

(rF)  Cmaeam(HeTer HneaTSHa)Lb

Transamination involves :

(a) transfer of amino groups from a keto acid to form an amino acid
(b) addition of keto groups to keto acid to form an amino acid
(c) exchange of amino groups between a keto acid and an amino acid

(d) all the above
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srruwmuie urevGul SbsGLev -II @& srariL(BEng.

(=) el CLrsreawrigflwreled @ LGdHwerey wHID easCLrsredled LG b
sl (S mg

(<=,) el GLmameurig flwim
(@) = Lam
(FF) engGLmamed

Carbamoyl phosphate synthetase-II is present in the
(a) Partly mitochondria and partly in the cytosol
(b) Mitochondria

(c) Nucleus

(d) Cytosol
CFer seualiims, (I BEFMGLD.
(=) aweGarbesdllen (=) Qedldler
(@) wfllfler (FF)  Q&oslimedleo
is highly toxic to cell membranes.
(a) Lysolecithin (b) Lecithin
(c) Trypsin (d) Cephalin
DNA -aflgemer gaeueamen Qewe (peppudlen epeors RNA -alh@ wrHm
PlgWLd.
(=) wrom UGG SSE (=) @riiglLmse
(@) =Wlram Gomdl wrHmib () urCwuhsse
The information in the DNA can be copied to RNA by a process called
(a) reverse transcription (b) replication
(c) translation (d) transcription

adCmiellwr C -ew 2 (Hheurd@wn smyeanf

(<) smyantl XI (<=y,) smyewfl VIII (@) smyewil V (/F)  smrewil VII
Hemophilia C is caused by :

(a) Factor XI (b) Factor VIII (c) Factor V (d) Factor VII

[ Hmluys / Turn over
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10. orps Qprd Gepur®h srrearors stdsGLTFOur o (Heurdng ?
(=) sresGLmen -1- urevGuLl wilenLed lgrmerevbuGren
(=) BEnsCaTensGenav
(8) urevGur@EpsGamdluyGLen
(rF) sresGLmanasCGeren

The deficiency of which enzyme causes galactosemia :

(a) galactose-1-phosphate uridyltransferase
(b) glucokinase

(c) phosphoglucomutase
(d) galactokinase

11. ys5elnGarmm urevurfCanmsdler Qameants SHLILMGT :

(1) Siamg(h (<) DNP (@) QpmiigCerrenr (/) DTT
An uncoupler of oxidative phosphorylation is :
(a) azide (b) DNP (c) Rotenone (d) DTT

12. e QBTS cpedammenTe, ¢ alpmg Crrsdle alleneris Cummerms WwTHOLILI(HILD

NlenariGUITHET LPeLSTnMISaTlen eTeuTemnt&Hend TTMENLP&ESLILI(HNEIMS).
(=) @Flsul’s aleaarGeousbd (<) elewerGous crevr
(&) Kp (FF) o &b eTam

The number of molecules of substrate converted into product per enzyme molecule
per second is called the

(a) Maximum reaction rate (b) Turnover number

(c) K (d) Optimum number

m

13. grewr LUl L Qur@mbgse wrdfl Csrerasamul o (heursdlweur

(1) Camageomerri_ (<) 4-GFmeT
(@) ewdseilen GlLoe 6T (FF) legagm
Induced fit model was proposed by :
(a) Koshland (b) Dixon
(c) Michaelis Menten (d) Fischer

14. Soumedled 2 Grem 6T LMl

(1) IgM (=) IgG (&) IgE () IgA
Antibody present in Colostrum is
(a) IgM (b) IgG (c) IgE (d) IgA
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15. Rh smyewilenw sewrLmlbgeur wmr ?
(1) &MTed emeT_evenL e HmLd CaHre
(=),) BMTeL TERTL6VEnL & HmID CleuieT
(@) erlaur(p Gegeserir
() emuilev LmevLIT
Who discovered Rh factor ?

(a) Karl Landsteiner and Koch

(b) Karl Landsteiner and Weiner
(c) Edward Jenner

(d) Louis Pasteur
U@ - 11 / PART - II

GOy : gCaemd ym armssErs@ el walldsab. elearm oar 24 -&@
SL_LMuwns 6len_wel&Esa|b. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.
16. SMEIGE SHMTFOSHET — GUMTUIMIGHELD.

Define buffers.

17. QaucuCoum auemswrear 2 WPHT &ridgsmer Sjeubmder e wellL g @nL en

GOILAhs.
Mention the different types of salivary glands along with its location.

18. NADH wpmid NADPH <ydlweupmlpdlen, Cuiwimer Ceumuir(® wng) ?
What is the difference between NADH and NADPH ?

19. <olGemm QgnEd B&sb eranpmed ererar ?

What is deamination ?

20. Osmpuy Sblense el CLrsrareflurelng sLSSULBGMmL LDl 6T(LpSIs.

Write about the transport of fatty acids into the mitochondria.

21. umellGrev Fmidlels QgTLiT ellanamursdl LDH FHSSLTS 6T(LPS)s.

Write a short note on polymerase chain reaction.

[ Hmluys / Turn over



6663 6

22. dlemiiey enwld — U FILMISSHE|LD.

Define active site.

23. Cpmuiwe — euanTumIsEsHe|D.
Define epidemiology.

24. QBrsls 5(HS5H TETMTE CTETET ? ASET CUMNSHENET GT(LHGIS.

What is Enzyme Inhibition ? Write their types.

U@ - III / PART - III

@Ml : gCgend gm alamssEnsE oL walsseyb. efarm eaear 33 -5
SL_LMuwns 6l wel&sa|b. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. L InEsmrHs6r crarmred ereer ? Fm GLadled sTanTliL(hd L FTSsmF(HSmerTL

Ul igwell(hs.

What are disaccharides ? List the disaccharides in the small intestine.

26. AUGLrGuer ereueumm Blurdlerms wrHmliuBEng ?

How is Tryptophan converted into niacin ?

27. Gsoseauaier freus semeanil UTS&GEW epetm (P&l STrentser wrene ?

What are the three major factors that can influence fluidity of a cell membrane ?

28. Garl &wpnd undl A GOILL euamys.

Give a short note on Cori Cycle.

29. Gsmevevigrmeden (psdlu CeuUm(hsemeT 6T(Lpgis.

Write the important functions of cholesterol.
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30. 4yGprCasmMCGuimgs womibd wWCasMCumgs LigCu@ssele o erer Gaumurheaner
T(LPSIS.

Write the differences between Prokaryotic and Eukaryotic in transcription.

31. amandlits Cpmisasrer Qurgeurar M@dsmer LHH eT(HHIs.

Write about the common symptoms of Von-Gierke disease.

32. el CLrarewrMwmeflen o drerenolienLl 6llemd@s.

Explain the structure of mitochondria.

33. aeuLme Camganers DM 6r(LPs)s.

Write about ‘Widal Test’.

U@&3| - IV / PART - IV

SOILIY : Semensgl clamésers@h alle wealssayb. Cameaiwmear @Lmigeaflédy LiLLb
CUGNITS. 5x5=25

Note : Answer all questions. Draw the diagrams wherever necessary.

34. (=) @ Feuallern s @evwi] UDM eSleTsHEs.
S|6V60 )
(=) @155 aufl wHmib dgwalfl Crmi gL saTiamu el (Hhs.
(a) Write about protein composition of membrane.

OR

(b) Compare the events of humoral and cell mediated immunity.

35. (=) Curlns serenbujerer $HEHsL eTand Gamarangenw efleu&se,b.
S|6V60 )
(<) @vlialssslen cuamasamer alleuilgsalb.

(a) Explain the concept of Competitive Inhibition.

OR
(b) Describe the types of Albinism.

[ Hmluys / Turn over
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36.

37.

38.

(=) Camupiiy oler %&HCarmmd LHM allers@s.
S|VEVG)

(=) wrdwer ShsSs smapern auflens el sarLPlige (NGS) Ggmln
B uBigater LoCaum LweTsmer clems@s.

(a) Give an account on oxidation of fatty acids.

OR

(b) Explain the different applications of the Next Generation Sequencing (NGS)
technologies in genomics.

(=) TCA spp&ludler o 6rem LigblenevgeneT afleum&saLb.
S|6060F)
(<=,) willwr spnd wHmib iger (W Hwusgeusdaear unpdl allfleurs alersa@s.
(a) Describe the steps involved in TCA cycle.
OR

(b) Elaborate on Urea cycle and its significance.

(1) 2w Y ome Garomser upMl alleTsEs.

S|eV6Vg)
(<=1) @enrlienus GLo apmrGumersemeTl LHM ellerdE@s.
(a) Explain about high energy compounds.

OR

(b) Explain the Gastrointestinal hormones.
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